TINO

1335 99866
1335 99867

1335 99868

@J Habitat
et Jardin




1335_99866/1335_99867/1335_99868

1 19201020100 | X1 1/2 1 7 ém’ 50*25*25 X2 1/2

102031050 | X1 2/2 18 — x2 | 1/2

x1

19
20

202031050 | X1 2/2 1/2

S

x1

202031050 | X1 212 | 21 1770'4020 | x1 1/2

2020*40*20 X1 212

N
N

100*40*30 X1 1/2

110111055 | X4 1/2 M8*30 x28| 1/2

© | 0O N O o b~ WODN

1890:3030 | X2 | 2/2 Mg x63| 1/2
16703030 | X2 | 2/2 x1 | 1/2
19404030 | X2 | 2/2 x1| 1/2
10 s905310 | X39| 1/2 M8 x30| 1/2
11 565030 x26| 1/2 M8 x8 | 1/2

RN
N

56*30*30 x26| 1/2 @425 x16| 1/2

I G| MmM m o oO|® >

RN
w

757530 x4 | 1/2 Mg*45 x28| 1/2

a® a® Cmme> @ @ /7 \ @ Q® % \

7108 Blelo\N|/IN\/I® /I 77\ ®

1 4 14014030 | X6 1/2 | M6*20 x4 | 1/2
15 181541005418 | X2 | 1/2 M8*70 x2 | 1/2
16 x2| 12 | K g Vs x1 | 1/2

FR : SAV/INFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT
ES: SERVICIO POST-VENTA/INFORMACION/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO

PT: SERVICO POS-VENDA/INFORMAGOES/VIDEO/CONTATO
PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT
NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT
HE: nnoni nnw anx/yTn ATin/oy 2wpn?













